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Answer the following questions as directed :

.1x10=10
Aot vsmﬁ T AR e foret :
(a) What is price dlscnmmatlon?

7 Reeiega 2

(b) Give an example of monopsony market.

mwmﬁaqﬁmﬁm

(c) Define internal rate of return.

wrerEa efmme 2R e A |
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(d)

(e)

9

()
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. (2)

Write True or False : .
o) (7 TSy fort

“Standard of living of worker depends on
real wage, not money wage.”

‘A BRWRE N A7 TR €0
&, T TR soRe = 1’

Give an example of insurable risk.

Aarcen HerIE ot Tz faan

What do you mean by Welfare
Economics?

T SRS e & w2

What is transfer ear_ning?
eIl 5 2

Choose the correct one :

- mb AR Bfenear :

In monopoly, Marginal Revenue Product
(MRP) is (greater than/equal to/less
than) Value of Marginal Product (VMP).

I TS AR RP e Beotr,
21 SRR ST (AR T 2) 1

State the compensation principle..

R ST forer |

( Continued )

[0/

(3)

Fill in the blank : :
18 57 9 0 : -
In monopolistic competition, there are

two types of costs. They are production
costs and

wﬂwmﬁﬁw W& AR | A

CRI T S I WE __|
2. Answer the following questions : 2x5=10
ToR 2P e o
(a) State why Pigou is called the father of

(b)

()

@
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Welfare Economics.

e R om0 w@RT Py F ow =,
foran

“Rent enter into price.” Comment.
“oTeeT R OGS 1”7 o |

Point out two differences between Net
Present Value and Internal Rate of
Return. )

0 IGTH T AR SR A T 151
o1 T |
What is shutdown point? *
Beorma 37 g T R2
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A7/841

(4)

(e What are ‘Heroic’ assumptions
mentioned by Chamberlin?

IR e 71 Rl wifen & 7

Answer any four of the following questions :
‘ 5x4=20

o PR R I BifRGR TeT o

(a) What are the conditions for possibilities
and  profitabilities. , of price
discrimination? o N
R ReeMed R W AT @RA

C R R R :

(b) Distinguish between economic profit and
accounting profit.
GLARE AS TF SATITS =S <M1y o |
(c) Explain the concept of quaéi~rent as the

difference between total revenue and
total variable cost.

ghww@aﬁa@%wwﬁﬁm
TP ATER QIR ARG F90

(d) Explain briefly the innovation theory of
profit.

A AGTY TER ©gf ST I 1 |

( Continued )

(8)

(e) What is collective bargaining? Describe
the role of trade union in the upliftment
of working class. :

T @R R? wfE cfi tere g
SR oAl IR 36 30

() Discuss payback period method as a
criterion of project appraisal.

o TR S ot 2o TR Ffeest
Licinieal

4. Answer the following questions :

T e Bed o -

(a) Explain the short-run equilibrium of a
firm and industry in a perfectly
competitive market under identical and
different costs conditions.

st o o e o < AR TS
G¥ 2AfOP W GO STE TN SRR
I ‘ |

Or / &I%r

Explain how price and output are
determined by a  discriminating
monopolist.

& RNTS G0 IPTE (FEAS T
o SRS AR e w0, @ik frn
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(6)

(b) Critically discuss the marginal

(c

A7/841

productivity theory of distribution.
ReIm 2t Sesrmiorer wefte ST
TG SISRCERT |

Or / AT

Explain Ricardo’s concept on rent as a
differential surplus.

e Tge R R Ry Rard's
IR 36 90 1

Discuss how wage is determined under
bilateral monopoly.

Refrs aln ToTe TR e Ffe
1 T, A 30 |

Or/ w51

What is average rate of return criterion?
If initial investment outlay of a two-year
project is 90,000 and net income before
taxes is ¥50,000 and income tax is S0%,
then calculate average rate of return.
Again, if the minimum cut-off rate is
10%, whether the project will be selected

10

10

10

or not? 3+5+2=10

TS AR Y NG 2 Wz =¥ ofp
4 ARRE R I 90,000 = v
MM I AR W WG SE 150,000 W
R 50% W, (SR TG AWM
TH A1 W IRz PAow I W 10%
=, o el difde 3T & /w9

( Continued )

(7))

(d) Explain the Pigouvian concept of
Welfare Economics. 10

wcm@ﬁaﬁmﬁmmmﬁh«mﬁu :
Or / &&_1

What is Pareto optimality? Discuss the
conditions of Pareto optimality. 10

RO I SR [F? CIROR I TER
FEYR ST T4 |

* %k %k
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(@)

(e)

(9)

0)
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(2)

Give the meaning of trade cycle.

fARTE v& Siefehr foram o

Mention the motives behind the demand
for money. T

R wRM R w0 Sowenz (fem)
TTEd 390 | ’

What is cost—pusi1 inflation?

Teor IEEiNS TErPIS 5 2

Mention one measure of controlling
business cycle fluctuations.

WWW&%@IWWWl

What is the shape of the LM curve?
LM GRICPR SE R 7

State a drawback of the IS-LM model.
IS-LM =% <t spifRe Seare 71 |

Mention a similarity between cash
balance approach and cash transaction

approach to the quantity theory of
money.

I R T R e —
IO TGS < GB1 Sy S 7447 |

( Continued )

2. Answer the following questions :

(3)

oo faan m’@mﬁm:

(@)

)

()

(@

(e)

A7/842

Show with a diagram the various phases
of a business cycle.

foam TTe AMRIE v R &l |

Mention two major causes of inflation.

TR oy o1 IR B T

State the condition of equilibrium in the
money market.

T ISR SRR 56 T 901

Define IS curve and LM curve.

IS @Y WF LM R19 wige fan o

State Robertson’s cash  balance
equation.

R o AR AN Bre 40
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1. Answer the following questions : 1x10=10
werS feal erpi e faun
(a) What is inflation?
TErdifS R 2
(b) What is liquidity trap?
o % R 2
(c) What is meant by value of money?‘
TR 0 e 157
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(4)

(S)

3. Answer any four of the following questions : (e) Why does the IS curve slope downward?
S 5x4=20 IS e e e =02
o e R e wifRer Seg forn '
o » _ () Briefly explain the structuralist view of
() Why is the cash balance equation inflation.
(M =PKT) of the quantity theory of AR e YRACHT LT I A |
money regarded superior to the cash
transaction equation (MV = PT)? 4. Answer any four of the following questions :
TR RN Tew wm AR AW 10x4=40
(M=PKT)®1 W% GWew 39k Wmﬁmﬁﬁmm:
(MV = PT) 9% %o 3@ Ry et =2 _
(@) Explain the liquidity preference theory of
interest. What are its limitations? 7+3=10
(b) Discuss whether there is a relationship Dt
between increase in money supply and TA omem WS wgdt T T W
inflation. wPRPRR R 2
R IR 7S FERRA T i | | |
E 0| T o (b) What is inflationary gap? Explain
TCeTol inflationary gap with a diagram. 2+8=10
. B TR wem A IR R B pe
(¢ Discuss the impact of inflation on TUPRIST SR 31 1T AR A0
production and distribution.
e oF ReIm e/ W AR (c) Explain Fisher’s equation of exchange.
SICEH 4 Does it provide an adequate explanation
of the changes in the value of money?
(d) What are the basic ch: te 7re=10
asic characteristics of a RE SRS
business cycle? R USSR RS R
RIS RIS T FRA?
AT e (i R a1 @R R0
A7/842 A7/842 ( Turn Over )
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(6)

(d) Discuss Cambridge equation for the
determination of value of money. Do you
think this equation is superior to the
Fisher’s equation? Give reasons. 6+4=10

TR 0 feR fEe SRR I 4 |
o ANFH Frerw RNtz Tre P off
SRIC 7 PR Feefia |

(e)  “The trade cycle is purely a monetary
phenomenon.” Explain this statement of
Hawtrey. Do you agree with what
Hawtrey has stated about the causes of
trade cycle? Give reasons. 6+4=10

‘“Ffifere 5&F Qo1 GNfET B T 1 TG %
YRR AR FM | AT 5T IRV oS
i =Gy @2 vore oft RN EWI? IR
Liaiic il

() How is the LM curve affected by the
change in the money supply and the

demand for money? Show it graphically.
10

LM @3rerR Rt 3R @1 S @R o1k
ARTETT T RS = ? e 7R oy |
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(9)

(h)

A7—5000+1500/842

(7)

Explain the nature of demand-pull
inflation. What measures would you
suggest to control such inflation?  5+5=10

TRrERe R o3 IR I @R
TR g R R [ T SRR ?

Discuss Hicks’ theory of business cycle. 10
s Al vaR gDl S 41 |
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